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Roll No. .................................

NARAYAN TALENT SEARCH EXAMINATION, 2012-13

Direction :-

1. The question paper has seven parts. All questions are to be attempted.

iz'u i= ds lkr Hkkx gSA lHkh iz'u vfuok;Z gSaA

2. Four alternative answers are given for each question but only one answer is

correct. Identify and put a Darken for it on the answer sheet. No other mark is

acceptable.

izR;sd iz'u ds pkj fodYi fn;s x;s gSa ijUrq muesa ls dsoy ,d lgh gSA Bhd mÙkj pqudj
mÙkj iqfLrdk esa xksys dks xgjk djsaA vU; dksbZ fpUg u yxk;saA

3. Do not use lead pencil on the answer sheet. Darken with Bal Pen. Over writing

is not accepted.

iSafly dk iz;ksx mÙkj iqfLrdk ij u djsaA cky iSu ls xksys dks xgjk djsaA dkV dj fy[kk x;k

fpUg ekU; ugha gksxkA

MENTAL ABILITY

Fill in the blanks (1-5)

[kkyh LFkku Hkjks

1. 5,2,7,9,16,25 _________________

a) 41 b) 45 c) 48 d) 52

2. 6, 11, 21, 36, 56 _________________

a) 42 b) 51 c) 81 d) 91

3. 3, 8, 13, 24, 41 _________________

a) 70 b) 75 c) 80 d) 85

4. A, I, P, V, A, E, ________________

a) E b) F c) G d) H

5. AI, BJ, CK,  ________________

a) DL b) DM c) GH d) LM
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Choose the odd one out (6-9) csesy 'kCn NkaVsa (6-9)

6. a) Ink b) Paper c) Pen d) Sharpner

a) L;kgh b) dkxt c) iSu d) 'kkiZuj

7. a) Football b) Volleyball c) Cricket d) Chess

a) QqVcky b) okyhcky c) fdØsV d) 'krjat

8. a) Run b) Walk c) Think d) Jump

a) nkSM+uk b) pyuk c) lkspuk d) dwnuk

9. a) Curd b) Butter c) Oil d) Cheese

a) ngha b) eD[ku c) rsy d) iuhj

Choose the correct word from the given alternative which have the same relation with given

word (10-11)

fn, x, foDyiksa esa ls ,d 'kCn NafV, tks fn, x, 'kCn ls ogh lEca/k j[krk gSA (10-11)

10. Root : Stem : : Branch : ......................

tM+ % ruk % 'kk[kk % -------------------------

a) Wood b) Leaf c) Tree d) Fertilizer

a) ydM+h b) iÙkh c) isM+ d) moZjd

11. Jute : Cotton : : Wool : ......................

twV % lwrh % Åu % -------------------------

a) Terylene b) Silk c) Rayon d) Nylon

a) Vsjhyhu b) flYd c) js;kWu d) ukbykWu

12. Heart is related to blood in same way as lung is related to

ân;] jDr ls mlh izdkj lacf/kr gS tSls QsQM+s lacf/kr gSa

a) Air b) Oxygen c) Chest d) Respiration

a) ok;q b) vkDlhtu c) Nkrh d) 'olu

13. How many right angles do you make of you start facing north and turn anticlockwise to east

;fn vki mrj ls okeko`r /kwe dj iwoZ eas igqaprs gSa rks vki fdrus ledks.k cuk,xsaA

a) 1 b) 2 c) 3 d) 4
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14. In which direction will you face, if you start facing east and make 1½ revolution clockwise.

;fn vki iwoZ ls nf{k.kko`r /kwe dj 1½ pDdj iwjk djs rks crkb, vki fdl fn'kk eas gksxsa \

a) East b) West c) North d) South

a) iwoZ b) if'pe c) mÙkj d) nf{k.k

15. If NOIDA is written as 39658, how will INDIA be written

;fn NOIDA dks 39658 fy[kk tk ldrk gS rks INDIA dks dSls fy[kk tk ldrk gSA

a) 36568 b) 63568 c) 63569 d) 65368

16. If POND is coded as RSTL, how is HEAR written in that code

a) GHIJ b) GHIZ c) JIGZ d) JCLZ

;fn POND dks RSTL fy[kk tk ldrk gS rks HEAR dks dSls fy[kk tk ldrk gSA

a) GHIJ b) GHIZ c) JIGZ d) JCLZ

17. Find the number of triangles from figure :

vkd`fr eas f=Hk qtksa dh la[;k crkvksA

a) 4 b) 5

c) 6 d) 7

18. Insert the missing character

yqIr in Kkr djks

a) 1 b) 2

c) 3 d) 4

19. Find the missing value : yqIr la[;k irk djsaA

5

20

4

9

3

24

8

11

9

?

4

13

a) 45 b) 50 c) 60 d) 36

Study the following diagram to answer these questions (20-23)

vkd`fr dks /;ku ls ns[kdj iz'uksa ds mrj nhft, % (20-23)

20. Which number is in all the grametrical figures ?

dkSu lh la[;k lHkh vkd`fr;ksa eas gS \

a) 3                     b) 4               c) 5 d) 8

5

1

8

2

25

?

64

4

1

6

7 3

45
2 8
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21. Find out the number that lies only inside the triangle

og dkSu lh la[;k gS tks dsoy f=Hkqt eas gS \

a) 1 and 7 b) 5 only c) 3 and 4 both d) None of these

a) 7 vkSj 7 b) dsoy 5 c) 3 vkSj 4 nksuksa d) bueas ls dksbZ ugha

22. Find out the number that lies only inside the circle

og dkSu lh la[;k gS tks dsoy o`r eas gSaA

a) 2 b) 4 c) 3 d) 8

In each of the following questions, arrange the given words in the sequence in which they

occur in the dictionary and choose the correct sequence (23-25)

fn, 'kCnksa dks 'kCn dks"kkuqlkj ltk,¡ vkSj lgh Øe pqusaA  (23-25)

23. 1) Mother 2) Monitor          3) Money            4) Master       5) Matter

a) 4,5,2,3,1 b) 1,2,3,4,5 c) 5,4,3,2,1 d) None of these

24. 1) Wasp 2) Waste               3) War               4) Wrinkle 5) Wrist

a) 1,2,3,4,5 b) 3,1,2,4,5 c) 2,4,3,5,1 d) 5,4,3,2,1

25. 1) Eagle 2) Earth                  3) Eager             4) Early 5) Each

a) 1,5,2,4,3 b) 2,1,4,3,5 c) 2,3,5,4,1 d) 5,3,1,4,2

26. If + means -, - means x, x means ÷ and ÷ means +, then 48 x 4 ÷  7+ 8-2 = ?

;fn + dk vFkZ -, - dk vFkZ x, x dk vFkZ ÷ vkSj ÷ dk vFkZ + gks rks 48 x 4 ÷  7+ 8-2 = ?

a) 3 b) -5 c) 35 d) 16

27. If 'p' means '-', q means +, r means ÷ and S means x then 16P4q558r2= ?

;fn 'p' dk vFkZ '-' q dk vFkZ + r dk vFkZ ÷ vkSj s dk vFkZ x gks rks 16P4q558r2= ?

a) -8 b) 32 c) 20 d) 12

28. If + means ÷, ÷ means -, - means x and x means +, then 20+5÷7x6-8 = ?

;fn $ dk vFkZ ÷] ÷ dk vFkZ − ] − dk vFkZ x vkSj x dk vFkZ  gks rks  20+5÷7x6-8 = ?

a) 51 b) 59 c) 37 d) 45

Arrange the given words in a meaningful sequence (29-31)

fn, x, 'kCnksa dks vFkZiw.kZ Øe eas yxkvks A ¼29-31½
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29. 1) Table 2) Tree                3) Wood                   4) Seed         5)  Plant

1) est 2) o`{k                  3) ydM+h                   4) cht     5) ikS/kk

a) 1,2,3,4,5 b) 1,3,2,4,5 c) 4,5,2,3,1 d) 4,5,3,2,1

30. 1) District 2) Village         3) State          4) Town 5) City

1) ftyk 2) xkao               3) jkT;          4) dLck 5) 'kgj

a) 2,4,5,1,3 b) 2,1,4,5,3 c) 5,3,2,1,4 d) 2,5,3,4,1

31. 1) Doctor 2) Fever            3) Prescribe      4) Diagnose 5) Medicine

1) MkWDVj 2) cq[kkj             3) funsZ'k           4) jksx igpku 5) nokbZ

a) 1,4,3,2,5 b) 2,1,3,4,5 c) 2,1,4,3,5 d) 2,4,3,5,1

32. If February 1, 2004 Wednesday, what day is March 3, 2004

;fn 1 Qjojh 2004 dks cq/kokj gks rks 3 ekpZ 2004 dks dkSu lk fnu gksxk \

a) Monday b) Sunday c) Saturday d) Friday

a) lkseokj b) jfookj c) 'kfuokj d) 'k qØokj

33. If X is brother of son of Y's son, then how is X related to Y.

;fn x,y ds csVs ds csVs dk HkkbZ gks rks X,Y ls fdl izdkj lacf/kr gSA

a) Brother b) Cousin c) Grandson d) Son

a) HkkbZ b) ppsjk HkkbZ c) iksrk d) csVk

34. A, B and C are sisters. D is the brother of E and E is the daugther of B. How is A related to D.

A,B vkSj C cgus gSaA D,E dk HkkbZ gS vkSj E,B dh iq=h gS rks A fdl izdkj D ls lacf/kr gSA

a) Sister b) Cousin c) Niece d) Aunt

a) cgu b) ppsjk HkkbZ c) Hkrhth d) ekSlh

Read the following information carefully and answer the questions (35-38)

fuEufyf[kr tkudkjh dks /;kuiwoZd i<+dj] iz'uksa ds mrj nksA (35-38)

Ravi and Kunal are good in Hockey and Volleyball, Sachin and Ravi are good in Hockey and

baseball. Gaurav and Kunal are good in cricket and volleyball. Sachin, Gaurav and Michael

are good in Football and Baseball.

jfo vkSj dq.kky gkdh vkSj okyhcky eas vPNs gSa] lfpu vkSj jfo gkdh vkSj oslcky eas vPNs

gSaA xkSjo vkSj dq.kky fØdsV eas vPNs gSa lfpu] xkSjo vkSj ekbdy QqVoky eas vPNs gSA
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35. Who is good in Hockey, Cricket and Volleyball ?

gkWdh] fdØsV ,oe~ okyhcky eas dkSu vPNk gS \

a) Sachin b) Kunal c) Ravi d) Gaurav

a) lfpu b) dquky c) jfo d) xkSjo

36. Who is good in Baseball, Cricket, Volleyball and Football ?

csloky] fØdsV] okyhcky vkSj QqVcky eas dkSu vPNk gS \

a) Sachin b) Kunal c) Gaurav d) Ravi

a) lfpu b) dq.kky c) xkSjo d) jfo

37. Who is good in Baseball, Volleyball and Hockey ?

csloky] okWyhoky vkSj gkdh eas dkSu vPNk gS \

a) Sachin b) Kunal c) Ravi d) Gaurav

a) lfpu b) dq.kky c) jfo d) xkSjo

38. How many numbers from 11 to 50 are these which are exactly divisible by 7 but not by 3 ?

11 ls 50 rd dh mu la[;kvksa dh la[;k crkvks rks 7 ls iw.kZr;k foHkkftr gks tkrh gS ijUrq 3 ls

ughaA

a) Two b) Four c) Five d) Six

a) nks b) pkj c) ikap d) N%

Find the missing character (39-40)

yqIr in Kkr djsaA ¼39-40½

39.

84

14 12

81

18 9

88

? 11

a) 16 b) 21 c) 61 d) 81

40.
916

3 4

49

2 3

?

1 5

a) 7125 b) 215 c) 251 d) 512
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MATHEMATICS

41. Which of the following is not correct

a) The magnitude of a Plane region is called its area.

b) Sides and angles of a closed regular figure are equal

c) Any triangle is called an equilateral triangle if its two sides are equal.

d) The perimeter of a rectangle is 42cm. If its breadth is 8cm then its area will be 104cm2.

fuEufyf[kr eas ls dkSu lk dFku lR; ugha gSA

a) ,d lery {ks= ds ifjek.k dks {ks=Qy dgrs gSaA

b) ,d cUn levkd`fr dh Hkqtk ,oa dks.k leku gkssrs gSaA

c) ,d f=Hk qt ftldh nks Hk qtk,a leku gks leckgq f=Hk qt dgykrk gSA

d) ,d vk;r dk ifjeki 42 lseh gS] ;fn bldh pkSM+kbZ 8 lseh gS rc bldk {ks=Qy 104 oxZ lseh

gksxkA

42. The length of a rectanguler plot is twice its breadth if its perimeter is 30m then which of the

following is incorrect.

a) length = 10m b) breadth = 5m c) Area = 50m2 d) None

,d vk;krdkj Hkw[k.M ftldk ifjeki 30 eh gS dh yEckbZ mldh pkSM+kbZ ls nks xquh gS rks

fuEufyf[kr eas ls dkSu lk dFku vlR; gSA

a) yEckbZ = 10m b) pkSM+kbZ = 5m c) {ks=Qy = 50m2 d) dksbZ ugha

43. To calculate the area of a figure using a squared graph which of the following conventions is

not true ?

a) If exactly half of the square is counted then take its area as half square unit

b)  If more than half a square is in a region then count it as full square.

c) Portions of the area that are less than half a square than ignore such regions

d) Portions of the area that are less than half a square counted as full squares.

oxZafdr xzkQ ds iz;ksx }kjk ,d vkd`fr dk {ks=Qy Kkr djus eas fuEufyf[kr dFku vlR; gSaA

a) ;fn iw.kZr;k vk/ks oxZ dk {ks=Qy vk/kk oxZ bZdkbZ ekuk tkrk gSA

b) ;fn oxZ vk/ks ls T;knk gS rks ml {ks= dks iw.kZ oxZ fxuk tkrk gSA

c) ftu oxksZa dk vk/ks ls de Hkkx vkd`fr ls f?kjk gSA mUgsa NksM+ fn;k tkrk gSA

d) ftu oxksZa dk vk/ks ls de Hkkx vkd`fr ls f?kjk gS mUgsa iwjk oxZ fxuk tkrk gSA
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44. Which of the following is not true ?

a) Perimeter of an equilateral triangle is = 3xside of triangle

b) Perimeter of a regular figure : number of side x length of side.

c) Perimeter of a irregular octagon = 8xlength of side

d) Let L and d denote the length and breadth of a rectangle than

Perimeter of rec gle

Area of rec gle l b

    
    

tan

tan
= +FHG

I
KJ2

1 1

fuEufyf[kr eas ls dkSu lk dFku vlR; gS \

a) leckgq f=Hk qt dk ifjeki = 3 x f=Hk qt dh Hkqtk

b) leckgq vkd`fr dk ifjeki = Hk qtkvksa dh la[;k x Hk qtk dh eki

c) vleku v"VHk qtk dk ifjeki = 8 x Hkqtk dh yEckbZ

d) ;fn L vkSj b ,d vk;r dh yEckbZ vkSj pkSM+kbZ dks iznf'kZr djrk gS rks

vk; r dk ifjeki

vk; r dk {ks = Qy
= +FHG

I
KJ2

1 1

l b

45. Which of the following is incorrect

a) L x V = 75 b) 65836902 < 203213102

c) Kilo means 1000 times larger and milli means 1000 times smaller

d) 1000 milimeters = 1 m and 1000 meters  =  1 kilometer

fuEufyf[ke eas ls dkSu lk dFku vlR; gSA

L x V = 75 b) 65836902 < 203213102

c) fdyks dk lUnHkZ 1000 xquk cM+k ,oa feyh dk lUnHkZ 1000 xquk NksVk ls gSA

d) 1000 feyhehVj = 1 eh- vkSj 1000 ehVj = 1 fdyksehVj

46. The population of Sunder Nagar was 235471 in the year 1991. In the year 2001 it was found

to be increased by 72958 what was the population of the Sundar Nagar in 2001 ?

a) 308429 b) 162513 c) 3992 d) None of these

o"kZ 1991 eas lqUnjuxj dh tula[;k 235471 Fkh o"kZ 2001 eas irk pyk fd tula[;k esa 72958

dh o`f) gks xbZA o"kZ 2001 eas 'kgj dh tula[;k D;k Fkh \

a) 308429 b) 162513 c) 3992 d) dksbZ ugha
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47. Read the following statements and select the correct choice.

a) 0 is the smallest natural number

b) The Predicessor of a two digit it number is always two digit number

c) 1 is the smallest natural number

d) The successor of a two digit number is always a two digit number.

fuEufyf[kr dFkuksa dks i<+ks vkSj lgh fodYi pquksA

a) 0 lcls NksVh izkd`r la[;k gSA

b) nks vadks dh iwoZorhZ la[;k lnSo nks vadks dh gksrh gSA

c) 1 lcls NksVh izkd`r la[;k gSA

d) nks vadks dh la[;k dk ifjorhZ lnSo nks vadksa dh ,d la[;k gksrh gSA

48. Study the pattern given below :

1x7+1=8, 12x7+2=86, 123x7+3 = 864 then sum of the digit of fifth step is

a) 18 b) 20 c) 16 d) None of these

fuEufyf[kr iSVuZ dks i<+ks 1x7+1=8, 12x7+2=86, 123x7+3 = 864 rc ikapos in ds vadks dk

;ksx gksxk

a) 18 b) 20 c) 16 d) bueas ls dksbZ ugha

49. Study the pattern given below :

32x5=160 = 160x1 32x15=480=160x3

32x25=800=160x5 32x35=1120=160x7

Then at the end of sixth step we get the result in the form 160xB then value of B equals.

a) 15 b) 13 c) 11 d) None of these

uhps fn, iSVuZ ¼izfr:i½ dk v/;;u dhft,

32x5=160 = 160x1 32x15=480=160x3

32x25=800=160x5 32x35=1120=160x7

rc NBs in ds var eas izkIr ifj.kke 160xb ds :i eas gSa rks b dk eku gksxk \

a) 15 b) 13 c) 11 d) bueas ls dksbZ ugha
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50. The area of a square of side 8 cm is same as that of a rectangle of length 32cm. The breadth

of the rectangle be ?

a) 8cm b) 6cm c) 41cm d) 2cm

,d 8 lseh Hk qtk okys oxZ dk {ks=Qy 32 lseh Hk qtk okys vk;r ds {ks=Qy ds leku gS rks vk;r

dh pkSM+kbZ gksxh \

a) 8 lseh b) 6 lseh c) 41 lseh d) 2 lseh

51. Which of the following statements is/are true ?

i) Every integer has an additine inverse such that their sum is equal to zero

ii) When one is added to any integer we get its predicessor

iii) Zero is neither a negative integer  nor a positive integer

iv) Integer 17 is less than the integer -21

v) (-3) + (-6) is greater than (-7) + (-9)

fuEufyf[kr eas ls dkSu lk dFku lR; gSA

i) izR;sd iw.kkZad ;ksT; izfryksHk ,oa iw.kkZad dk ;ksx 'kwU; gksrk gSA

ii) fdlh iw.kZad eas 1 tksM+us ij ml iw.kkZad dk iwoZorhZ iw.kkZad izkIr gksrk gSA

iii) 'kwU; u /kukRed iw.kkZad gS vkSj u _.kkRed iw.kkZad gS

a) i, iii, v b) only i c) only iii d) only v

52. Study the list of temperatures of five places in India on a particular day of the month

a) 670C above 00C b) 500C above the 00C c) 230C above 00C d) 170 below the 00C

ekg ds fo'ks"k fnu ds fy, Hkkjr ds ikap LFkkuksa ij jgs rkieku dh lwph dk v/;;u djksA

Siachin fl;kfpu 100C below 00C 'kwU; ls 100C uhps

Shimla f'keyk 20C below 00C 'kwU; ls 20C uhps

Ahmadabad vgenkckn 300C above 00C 'kwU; ls 300C mij

Delhi fnYyh 200C above 00C 'kwU; ls 200C mij

Srinagar Jhuxj 150C below 00C 'kwU; ls 150C uhps

The sum of all these places temperature equals ?

bu lHkh LFkkuksa ds rkiekuksa dk ;ksx gksxk \

a) 'kwU; ls 670C mij b) 'kwU; ls 500C mij c) 00C ls 230C mij d) 00C ls 170C uhps
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53. The L.C.M. of 12,16,24 and 36 is ?

a) 72 b) 144 c) 108 d) None of these

12,16,24 rFkk 36 dk y-l-o- gSA

a) 72 b) 144 c) 108 d) bueas ls dksbZ ugha

54. Which of the following is/are not co-prime ?

fuEufyf[kr eas ls dkSu dkSu lg vHkkT; gSaA

i) 18,35 ii) 15,37 iii) 30,415         iv) 17,68    v) 216, 215

a) i, ii b) iii, iv c) ii, v d) ii, iii

55. Which of the following is not correct

a) Two numbers having only 1 as common factor are called co prime numbers

b) If the sum of the digits of a number is divisible by 9 then the number itself is divisible by 9.

c) If two given numbers are divisible by a number then their sum is also divisible by that

number.

d) All numbers which are divisible by 4 must be divisible by 8.

fuEufyf[kr eas dkSu lk dFku vlR; gSA

a) nks la[;k,a ftudk lkoZ xq.ku[k.M 1 gks lg vHkkT; la[;k,a dgykrh gSaA

b) ;fn ,d la[;k ds vadks dk ;ksx 9 ls foHkkftr gks rks og la[;k Hkh 9 ls foHkkftr gksxhA

c) ;fn nks la[;k,a fdlh ,d vU; la[;k ls foHkkftr gksrh gSa rc mu la[;kvksa dk ;ksx Hkh ml

la[;k ls foHkkftr gksxk

d) tks la[;k,a 4 ls foHkkftr gksrh gSa os 8 ls Hkh foHkkftr gksxhaA

56. Select the correct statement

a) The centre of a circle lies on the boundary of circle

b) Two diameters never intersect each other

c) A circle have non countable diameters

d) A diameter is a chord which never passes through the centre of the circle.

lgh dFku pquksa

a) ,d o`r dk dsUnz o`r dh ifjf/k ij fLFkr gksrk gSA

b) nks O;kl ,d nwljs dks dHkh Hkh izfrPNsfnr ugha djrs gSa

c) ,d o`r eas vla[; O;kl gksrs gSaA

d) O;kl o`r dh og thok gS tks dHkh Hkh o`r ds dsUnz ls ugha tkrh A
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57. The measurement of one revolution by a minute hand with respect to a clock

a) 1800 b) 1 right angle c) 4 right angle d) None

?kM+h ds lkis{k feuV dh lwbZ }kjk 1 ?kw.kZu eas vUrfjr dks.k dh eki gksxhA

a) 1800 b) 1 ledks.k c) 4 ledks.k d) dksbZ ugha

58. Select the correct statements ?

i) If each angle of triangle is acute then triangle is acute angle triangle

ii) If any two sides of a triangle are equal it is known as isosceles triangle

iii) A triangular Pyramid has a triangle as its base it is also known as a tetrahedron

iv) A reflex angle is smaller than a straight angle

v) All the sides of a parallelogram are equal length

vi) opposite sides of a trapezium  are parallel.

a) i, ii, iii b) iv, v, vi c) iii, iv d) None of these

lgh fodYiksa dks pquks

i) ;fn fdlh f=Hk qt dk izR;sd dks.k U;wudks.k gS rks og U;wudks.k f=Hk qt gksxkA

ii) ;fn fdlh f=Hk qt dh nks Hk qtk,a nks Hk qtk,a leku gks rks mls lef}ckgq f=Hkqt dgrs gSaA

iii) ,d f=Hk qth; fijkfeM ftldk vk/kkj f=Hk qt gS dks leprq"Qyd dgrs gSaA

iv) ,d izfrorhZ dks.k] ,d jSf[kd dks.k ls NksVk gksrk gSA

v) ,d lekUrj prqHk qZt dh lHkh Hk qtk,a leku gksrh gSaA

a) i, ii, iii b) iv, v, vi c) iii, iv d) bueas ls dksbZ ugha

59. Simplest form of 
3

5

7

20
−  equals

a) 
1

8
b) 

1

20
c) 

1

4
d) None of these

3

5

7

20
−  dk ljyre :i gS

a) 
1

8
b) 

1

20
c) 

1

4
d) bueas ls dksbZ ugha

60. The difference between the largest and the smallest fraction among the fraction 
4

5

4

7

4

9

4

11
, , , is ?

a) 
24

25
b) 

16

17
c) 

8

35
d) 

8

99
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fHkUuksa eas ls 
4

5

4

7

4

9

4

11
, , ,  eas ls lcls cM+h ,oa lcls NksVh fHkUuksa dk varj gksxk \

a) 
24

25
b) 

16

17
c) 

8

35
d) 

8

99

61. If  i) 
4

5

2

5

3

5
9+ − = ii) b + =11

3
5 iii) 8

1

4
10

1

2
+ =C iv)  

1

7

2

7

3

7

10
, , ,

d
 are like

fraction then which of the following is correct

a) a = 3

5
b) b = 4

3
c) c = 9

4
d) All of these

i) 
4

5

2

5

3

5
9+ − = ii) b + =11

3
5 iii) 8

1

4
10

1

2
+ =C iv)  

1

7

2

7

3

7

10
, , ,

d
 leku

fHkUu gksa rks fuEufyf[kr eas ls dkSu lk fodYi lgh gSA

a) a = 3

5
b) b = 4

3
c) c = 9

4
d) ;s lHkh

62. Using decimals express 78g in Kg ?

a) 0.078 b) 0.78 c) 7.8 d) None of these

n'key ds iz;ksx ls 78 xzke dks fdxzk eas O;Dr djks \

a) 0.078 b) 0.78 c) 7.8 d) bueas ls dksbZ ugha

63. The value of 27.8+46+175.09+685.7 equals ?

a) 93.459 b) 934.59 c) 9345.9 d) None of these

27.8+46+175.09+685.7 dk eku gS\

a) 93.459 b) 934.59 c) 9345.9 d) bueas ls dksbZ ugha

64. 7.15 lies between the whole numbers ?

a) 11 and 8 b) 17 and 19 c) 7 and 8 d) None of these

7.15 fdu iw.kZ la[;kvksa ds e/; fLFkr gSA

a) 11 and 8 b) 17 and 19 c) 7 and 8 d) bueas ls dksbZ ugha

65. The value of x y z z y2 2+d i , when x=y=z=1

a) 3 b) 1 c) 2 d) None of these

x y z z y2 2+d i

 dk eku gksxk ;fn x=y=z=1

a) 3 b) 1 c) 2 d) bueas ls dksbZ ugha



VI - 14

66. Which of the following is not an equation ?

a) x+2y=3 b) 2x-3y=4 c) x+y+3=0 d) x-7y+4 ≤ 0

fuEufyf[kr eas ls dkSu lk lehdj.k ugha gS \

a) x+2y=3 b) 2x-3y=4 c) x+y+3=0 d) x-7y+4 ≤ 0

67. If 7x+2=x+44 then x equals ?

a) -6 b) 6 c) 7 d) None of these

;fn 7x+2=x+44 rks x gksxk \

a) -6 b) 6 c) 7 d) bueas ls dksbZ ugha

68. Which of the following statement are not correct algebraic expression (x is used for any

number)

i) 11 subtracted from two third of a number means 

ii) 4 more than three fifth of a number means 4
3

5
+ x

iii) I less than thrice a number equals 27 means 3x-9=27

iv) 7 increased by one fifth of a number means 7
1

5
x +

a) i b) ii c) iii d) iv

fuEufyf[kr eas ls dkSu lk dFku lgh chth; O;atd dks O;Dr ugha djrk gS ¼tgka X fdlh vKkr

la[;k ;k pj dks O;Dr djrk gS½

i) fdlh la[;k ds nks frgkbZ eas ls 11 ?kVkus ij 
2

3
11x −

ii) ,d la[;k ds 
3

5
 xqus ls 4 vf/kd 4

3

5
+ x  gksrk gSA

iii) ,d la[;k ds rhu xqus ls 9 de 27 ds cjkcj gS dk vFkZ 3x-9=27 gSA

iv) ,d la[;k ds 
1

5
 xqus ls 7 vf/kd 7

1

5
x +  gksrk gSA

a) i b) ii c) iii d) iv

69. Find the sum :   (-7) + (-9) + 4 + (-16)

a) 30 b) -28 c) 28 d) -32

tksM+ djsa (-7) + (-9) + 4 + (-16)

a) 30 b) -28 c) 28 d) -32
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70. Ratio of 20 cm to 2m ?

a) 10:1 b) 1:10 c) 7:5 d) None of these

20cm dk 2m ls vuqikr gksxk \

a) 10:1 b) 1:10 c) 7:5 d) bueas ls dksbZ ugha

71. If 3, 8, 18, x are in preportion then x= ....... ?

a) 48 b) 24 c) 12 d) None of these

;fn 3, 8, 18, x lekuqikr gksa rks x dk eku gksxk \

a) 48 b) 24 c) 12 d) bueas ls dksbZ ugha

72. If 
5

18 54

20

108
= = =A

B

K
 then which of the following is true ?

a) A=15 b) B=72 c) K=30 d) All of these

;fn 
5

18 54

20

108
= = =A

B

K
 gks rks fuEufyf[kr eas ls dkSu lk dFku lR; gS \

a) A=15 b) B=72 c) K=30 d) ;s lHkh

73. Which of the following statements are true ?

i) An equilateral triangle have three line of summetry

ii) A square has four line of symmetry

iii) An isosceles triangle has only one line of symmetry

iv) In a circle there exist infinite line of symmetry

fuEufyf[kr eas ls dkSu lk dFku lR; gS \

i) ,d leckgq f=Hk qt dh rhu lefefr js[kk,a gksrh gSaA   ii) ,d oxZ dh pkj lefefr js[kk,a gksrh gSaA

iii) ,d lef}ckgq f=Hkqt dh ,d lefefr js[kk gksrh gSA

iv) ,d leprqHk qZt dh nks lefefr js[kk,a gksrh gSaA

a) only i, ii, iii b) only ii, iii c) only i, iv d) all of these

74. Look the circle whose centre is 0. Join OC, OD, OE and OF. then write which of the

following are corect ?

o`r dks ns[kks ftldk dsUnz 0 gSA OC, OD, OE vkSj OF dks feykvks

vkSj crkvks fd fuEufyf[kr esa ls dkSu lk fodYi lgh gSA

i) &&&&&&AB  is the largest line segment

 &&&&&&AB   lcls cM+k js[kk [k.M gSA

A B

DC

E F

O
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ii) &&&&&& &&&&&& &&&&&& &&&&&& &&&&&& &&&OA OB OC OD OE OF= = = = =
iii) 2 2xOA xOB AB&&&&&& &&&&&& &&&&&&= =
iv) If AB=8cm then OE=16cm

a) only i, ii b) only ii and iii c) all of i, ii, iii d) None of them

a) dsoy i, ii b) dsoy ii vksj iii c) ;s lHkh i, ii, iii b) bueas ls dksbZ ugha

75. How many lines of symmetry a scalene triangle has

a) 3 b) 2 c) 1 d) None of these

,d fo"keckgq f=Hk qt dh fdruh lefefr js[kk,a gksrh gSa

a) 3 b) 2 c) 1 d) buesa ls dksbZ ugha

76. The sale of electric bulbs on different days of a week is shown below. Here * represent two

bulbs.

Day ¼fnu½ Number of bulbs ¼cYcksa dh la[;k½
Monday ¼lkseokj½ * * * * * *

Tuesday ¼eaxyokj½ **  **  **  **

Wednesday ¼cq/kokj½ **  **

Thursday ¼c`gLifrokj½ ** ** *

Friday ¼'kqØokj½ **

Saturday ¼'kfuokj½ ** ** ** ** **

Sunday ¼jfookj½ * * * * * * *

Observe the pictograph and select the incorrect choice ?

Åij fn, x;s fp=kys[k dks ns[kdj vlR; fodYi dks pqusaA

i) If one bulb was sold at the rate of Rs. 4 then total sale of sunday be Rs. 56.

;fn ,d cYc 4 : eas cspk x;k rks jfookj dh dqy foØh 56 : gksxhA

ii) Maximum number of bulbs are sold on saturday which are 20.

'kfuokj dks lokZf/kd cYc cssps x;s ftudh la[;k 20 gSA

iii) Total sale of the week was 84 bulbs.

lIrkg eas dqy 84 cYc csps x;sA

iv) On Friday there was no sale.

'kqØokj dks dksbZ fcØh ugha gqbZA

a) Only iv b) i, ii c) ii, iii d) i, ii, iii

a) dsoy iv b) i, ii c) ii, iii d) i, ii, iii
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77. If there are x rows of chairs and each row has y chairs then maximum number of chairs are

given by.

;fn x iafDr;ka gks vkSj izR;sd iafDr eas y dqflZ;ka gksa rks vf/kdre dqflZ;ksa dh la[;k gksxhA

a) x+y b) x x y c) 
x

y d) None of these

a) x+y b) x x y c) 
x

y
d) bueas ls dksbZ ugha

78. Ranjana is 6 years younger than Radha. If Ranjana is x years old,  then Radha's age be

jatuk dh vk;q jk/kk ls 6 o"kZ de gS] ;fn jatuk x o"kZ dh gS rks jk/kk dh vk;q gksxh \

a) 6x years b) 
6

x
 years c) 6-x years d) x+6 years

a) 6x o"kZ b) 
6

x
 o"kZ c) 6-x o"kZ d) x+6 o"kZ

79. How many hundreds are there in 2,56,000 ?

2,56,000 eas fdrus lSdM+s gksaxs \

a) 2,560 b) 560 c) 256 d) None of these

a) 2,560 b) 560 c) 256 d) bueas ls dksbZ ugha

80. How many numbers of even prime number upto 25 are

a) 9 b) 13 c) 8 d) None of these

a) 9 b) 13 c) 8 d) bueas ls dksbZ ugha
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SOCIAL STUDIES

81. Where was rice first grown in India ?

a) In north of the vindhyas b) In south of the vindhyas

c) Punjab d) Haryana

Hkkjr eas loZizFke pkoy fdl {ks= eas mxk, x,

a) fo/a; ds mrj eas b) foa/; ds nf{k.k eas c) iatkc d) gfj;k.kk

82. Name the king whose inscriptions are found in a large number ?

a) Chandragupta b) Ashoka c) Samduragupta d) Akbar

ml jktk dk uke crkvks ftlds vfHkys[k cM+h la[;k eas feyrs gSaA

a) pUnzxqIr b) v'kksd c) leqnzxqIr d) vdcj

83. Name the animal which was unknown to the people of Indus valley ?

a) Ox b) Cow c) Dog d) Horse

fuEu eas ls fdl i'kq ls flU/k q /kkVh ds yksx lkekU;r% ifjfpr ugha Fks A

a) cSy b) xk; c) dqÙkk d) ?kksM+k

84. Which animal was first tamed In Neolithic age ?

a) Dog b) Cow c) Horse d) Ox

uo ik"kk.k dky eas fdl tkuoj dks lcls igys ikyrw cuk;k x;k\

a) dqÙkk b) xk; c) ?kksM+k d) cSy

85. Who was Xuan Zang ?

a) Chinese pilgrim b) Ruler c) Doctor d) Sailor

'osu Rlkax dkSu Fkk \

a) phuh ;k=h b) 'kkld c) MkDVj d) ukfod

86. How many vedas are there ?

a) 2 b) 4 c) 6 d) 8

osnksa dh la[;k fdruh gS\

a) 2 b) 4 c) 6 d) 8

87. When were cities of Harappan civilisation developed ?

a) 4700 years ago b) 4800 years ago c) 1500 years ago d) 1000 years ago

gMIIkk lH;rk ds uxjksa dk fuekZ.k dc gqvk \

a) 4700 o"kZ igys b) 4800 o"kZ igys c) 1500 o"kZ igys d) 1000 o"kZ igys
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88. Where is great bath situated ?

a) Kalibangan b) Mohenjodaro c) Lothal d) Dholavira

egku Lukuxkj dgk¡ fLFkr gS \

a) dkyhcaxk b) eksgutksnM+ks c) yksFky d) /kkSykohjk

89. From the following where in gold found ?

a) Karnataka b) Rajasthan c) Gujarat d) Pakistan

fuEu eas ls lksuk dgk¡ ik;k tkrk gS \

a) dukZVd b) jktLFkku c) xqtjkr d) ikfdLRkku

90. According to famous physician charak in his book charak samhita how many bones are found

in a human body ?

a) 206 b) 360 c) 308 d) 306

pjd uked oSn~; us viuh pjd lafgrk eas euq"; 'kjhj eas fdruh gM~fM;ka crkbZ gSa

a) 206 b) 360 c) 308 d) 306

91. Who were powerful rulers of Magadha ?

a) Bimbisara and Ajatasatru b) Akbar, Shanjhan

c) Samudragupta & Chandragupta d) Ashoka, Harsha

ex/k ds lcls 'kfDr'kkyh 'kkld dkSu Fks A

a) foaclkj] vtkr'k=q b) vdcj] 'kkgtkag c) leqnzxqIr] pUnzxqIr d) v'kksd] g"kZ

92. Who was founder of Buddhism ?

a) Mahavir b) Gautam Buddha c) Swami Vivekanand d) Ashoka

ckSn~/k /keZ ds laLFkkid dkSu Fks \

a) egkohj b) xkSre cq) c) Lokeh foosdkuan d) v'kksdk

93. Where did Mahatma Buddha attain enlightenment ?

a) Bihar b) Patna c) Bodhyaga d) Mathura

egkRek cq) us Kku dgk¡ ls izkIr fd;k\

a) fcgkj b) iVuk c) ckS/kx;k d) eFkqjk

94. In how many ashramas is human life divided ?

a) 2 b) 4 c) 8 d) 10

euq"; thou dks fdrus vkJeksa eas ckaVk x;k gS \

a) 2 b) 4 c) 8 d) 10
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95. Which river does not form a delta ?

a) Krishna b) Kaveri c) Narmada d) Ganga

bueas ls dkSu lh unh MSYVk ugha cukrh

a) d`".kk b) dkosjh c) ueZnk d) xaxk

96. Choose the correct answer :

Ring wells were used :-

a) for washing the cloths   b) For bathing c) For irrigation d) For drainage

oy;&dwi dk mi;ksx

a) diM+s /kksus ds fy, b) ugkus ds fy,

c) flapkbZ ds fy, d) ty fudkl ds fy,

97. The earliest Tamil compositions are known as :

a) Sangam literature b) Meghdoot c) Abhigyan Shkuntlam d) Mudra Rakshash

rfey dh izphu jpukvksa dks dgrs gSaA

a) laxe lkfgR; b) es?knwr c) vfHkKky'kadqrye d) eqnzk jk{kl

98. Which product was known as Black Gold in Rome ?

a) Diesel b) Petrol c) Wax d) Pepper

jkse eas fdl pht dks dkys lksus ds uke ls tkuk tkrk gS \

a) Mhty b) iSVªksy c) ekse d) dkyh fepZ

99. Who was founder of christianity ?

a) Jesus Christ b) Mahatma Buddha c) Mahavir Swami d) Ashoka

bZlkbZ /keZ ds laLFkkid dkSu Fks \

a) bZlk elhg b) egkRek cq) c) egkohj Lokeh d) v'kksdk

100. Who composed Buddhacharita ?

a) Ashvaghosha b) Kanishka c) Ashoka d) Kautilya

cq)pfjre ds jpukdkj dkSu Fks \

a) v'o?kks"k b) dfu"d c) v'kksd d) dkSfVY;

101. How far away is our earth from the sun ?

a) 10 crore k.m. b) 15 crore k.m. c) 20 crore k.m. d) 5 crore k.m.

gekjh i`Foh lw;Z ls fdruh fd eh nwj gS

a) 10 djksM+ fd eh b) 15 djksM+ fd eh c) 20 djksM+ fd eh d) 5 djksM+ fd eh
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102. How much time is taken by the moon to complete one revolution around the earth ?

a) 30 days 10 hours b) 27 days 7 hours c) 29 days 8 hours d) 31 days 7 hours

pUnzek dks i`Foh dh ,d ifjØek iwjh djus eas fdruk le; yxrk gS \

a) 30 fnu 10 ?kaVs b) 27 fnu 7 ?kaVs c) 29 fnu 8 ?kaVs d) 31 fnu 7 ?kaVs

103. The total number of longitudes are .....................

a) 360 b) 180 c) 90 d) 80

ns'kkarjksa dh dqy la[;k --------------------- gS

a) 360 b) 180 c) 90 d) 80

104. The number of heat zones of the earth are .....................

a) 6 b) 8 c) 3 d) 7

i`Foh ds rki dfVc/kksa dh la[;k --------------------

a) 6 b) 8 c) 3 d) 7

105. The standard meridian of India is .....................

a) 68.7 East b) 8.4 East c) 37.6 East d) 82½ East

Hkkjr dk ekud ;kE;ksÙkj -----------------gS

a) 68.7 iwoZ b) 8.4 iwoZ c) 37.6 iwoZ d) 82½ iwoZ

106. One leap year has ................. days.

a) 366 b) 365 c) 360 d) 364

,d yhi o"kZ eas fnuksa dh la[;k ----------------- gksrh gS

a) 366 b) 365 c) 360 d) 364

107. The movement of the earth around the Sun is called ..................

a) rotation b) Revolution c) Inclination d) Gravitation

i`Foh dh lw;Z ds pkjksa vksj dh xfr dks dgk tkrk gS

a) ?kw.kZu b) ifjØe.k c) >qdko d) xq#Rokd"kZ.k

108. The number of components of a map is ....................

a) 4 b) 6 c) 8 d) 3

ekufp= ds ?kVdksa dh la- gS

a) 4 b) 6 c) 8 d) 3
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109. The major domains of the earth are ...................

a) Four b) Five c) Three d) Two

i`Foh ds izeq[k ifjeaMy ----------------- gSA

a) pkj b) ikap c) rhu d) nks

110. The number of continents on the earth are .................

a) Five b) Eight c) Seven d) Ten

i`Foh ds izeq[k egknhiksa dh la[;k fdruh gS \

a) ikap b) vkB c) lkr d) nl

111. By which mountains are Europe and Asia seperated ?

a) Andes b) Himalaya c) Ural d) Alps

dkSu lh ioZr J`a[kyk ,f'k;k vkSj ;wjksi dks vyx djrh gS

a) ,aMht b) fgeky; c) ;wjky d) vkYil

112. Which is the largest continent ?

a) Asia b) Africa c) Australia d) Europe

lcls cM+k egknhi dkSu lk gS \

a) ,f'k;k b) vÝhdk c) vkLVsªfy;k d) ;wjksi

113. Who was the first Indian woman to climb the mount everest ?

a) Bachendri Pal b) Dicky Dolma c) Kalpana Chawla d) Sunita

,ojsLV ij p<+us okyh Hkkjr dh igyh efgyk dkSu Fkh

a) cNsanzh iky b) fMDdh Mksyek c) dYiuk pkoyk d) lqfurk

114. How much Nitrogen gas is present in atmosphere ?

a) 21 percent b) 0.91 percent c) 71 percent d) 78 percent

ok;qeaMy eas ukbVªkstu xSl dh ek=k fdrus izfr'kr gS

a) 21 izfr'kr b) 0.91 izfr'kr c) 71 izfr'kr d) 78 izfr'kr

115. What is the southern most range of Himalaya called ?

a) Shiwalik b) Himadri c) Himachal d) Aravali

fgeky; ds nf{k.kh Hkkx dks D;k dgk tkrk gS

a) f'kokfyd b) fgekfnz c) fgekpy d) vjkoyh
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116. Where was paper invented ?

a) In China b) In India c) In Japan d) In Srilanka

dkxt dh [kkst lcls igys fdl ns'k eas gqbZ

a) phu b) Hkkjr c) tkiku d) Jhyadk

117. How many states are there in India

a) 27 b) 29 c) 30 d) 28

Hkkjr eas dqy fdrus jkT; gSa

a) 27 b) 29 c) 30 d) 28

118. The world's highest rainfall occurs in .....................

a) Mumbai b) Asansol c) Mawsynram d) Cherapunji

fo'o eas lcls vf/kd o"kkZ okyk {ks= dkSulk gS \

a) eqacbZ b) vklulksy c) ekSflujke d) psjkiaqth

119. Name a plant with very few leaves ?

a) Mango b) Orange c) Apple d) Coconut

lcls de ifÙk;ksa okys ,d ikS/ks dk uke crkvks

a) vke b) larjk c) lsc d) Ukkfj;y

120. Which is the National bird of India ?

a) Pigeon b) Parrot c) Peacock d) Mynah

Hkkjr dk jk"Vªh; i{kh dkSu lk gS

a) dcwrj b) rksrk c) eksj d) dks;y
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SCIENCE

121. Due to iron deficiency, the concentration of

a) Glucose in the blood falls b) Starch in the blood falls

c) Haemoglobin in blood falls d) All of above

ykSg rRo dh deh ds dkj.k fuEu eas ls fdldh ek=k dh [kwu eas deh gks tkrh gSA

a) xyqdkst b) LVkpZ c) ghekssXyksfcu d) lHkh dh

122. Deficiency of iodine causes which diseases

a) Scurvy b) Rickets c) Goitre d) Anaemia

vk;ksMhu dh deh ds dkj.k gksus okyk jksx gS

a) LdohZ b) fjdV~l c) ?ksa?kk d) vuhfe;k

123. Which one is carnivore

a) Cow b) Lizard c) Crow d) Rat

fuEu eas ls dkSu ekalkgkjh gS

a) xk; b) fNidyh c) dkSvk d) pwgk

124. Tomato is which parts of the plant

a) Stem b) Root c) Fruit d) None of these

VekVj ikS/ks dk dkSu lk Hkkx gS

a) ruk b) tM+ c) Qy d) bues ls dksbZ ugha

125. Which country developed silk first ?

a) Sri Lanka b) Afghanistan c) China d) Myanmar

fdl ns'k eas js'e dks lcls igys [kkstk x;k \

a) Jh yadk b) vQxkfuLrku c) phu d) E;kaekj

126. Which of the following fibre is made from renewable resources ?

a) A crylic b) rayon c) spandex d) Nylon

fuEu eas dkSu lk js'kk uohdj.kh; lksr ls cuk;k tkrk gS \

a) ,fØfyd b) js;ku c) Lis.MSDl d) ukbykWu
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127. Which one is natural fibre

a) Orlon b) Silk c) Nylon d) Polyster

fuEu eas dkSu lk izkd`frd js'kk gS

a) vkWjyksu b) flYd c) uk;ykWu d) iksfyLVj

128. A substance which readily burns in the presence of air on heating is

a) combustible b) conductor c) hot d) None of these

ok;q dh mifLFkfr eas xeZ djus ij tks inkFkZ rsth ls vkx idM+rk gS og dgykrk gS

a) nká b) lqpkyd c) xje d) dksbZ ugha

129. A substance which does not allow heat energy to flow through it

a) good conductor b) bad conductor c) combustible d) None of these

og inkFkZ tks vius eas ls Å"ek ÅtkZ dks cgus ugha nsrk] dgykrk gS

a) lqpkyd b) dqpkyd c) nká d) dksbZ ugha

130. Which one is soluble in water

a) Mustard oil b) Coconut oil c) Vinegar d) Kerosene

ty eas ?k qyu'khy gS A

a) ljlksa rsy b) ukfj;y rsy c) fljdk                       d) feêh dk rsy

131. Cutting a sheet of paper into pieces is a ...

a) Chemical change b) Reverisble c) Physical change d) All of above

dkxt dh 'khV dks VqdM+ksa eas dkVuk gS

a) jklk;fud ifjorZu b) mRØe.kh; c) HkkSfrd ifjorZu d) lHkh Bhd gSa

132. How will you separate two immiscible liquids :

a) By Decantation b) Sedimentation c) Magnetic separation d) Filtration

nks vfeJ.kh; nzoksa dks dSls i`Fkd dj ldrs gSaA

a) fu:rkj.k b) volknu c) pqEcdh fof/k }kjk d) Nkuuk

133. The process in which a solid substance changes into gaseous form on heating

a) Sedimentation b) Sublimation c) Condensation d) Filteration

og izfØ;k ftlesa Bksl inkFkZ xeZ djus ij lh/ks okf"ir gks tkrk gSA

a) volknu b) m/oZikru c) la?kuu d) Nkuuk



VI - 26

134. The rose plant belongs to which category

a) Herb b) Shrub c) Tree d) All of these

xqykc dk ikS/kk fdl ls lEcfU/kr gS

a) 'kkd b) >kM+h c) isM+ d) ;s lHkh

135. Which of the following leaves have parallel venation

a) Tulsi b) Wheat c) Mango d) Banyan

fuEu eas ls fdlds iÙkksa eas lekarj f'kjkfoU;kl gksrk gSA

a) rqylh b) xsgwa c) vke d) ihiy

136. Pollen grains are found in

a) Fruit b) Roots c) Stamen d) Pistil

ijkxd.k fdl eas ik, tkrs gSaA

a) Qy b) tM+ c) iaqdslj d) L=hdslj

137. The joint of elbow is called

a) ball and socket joint    b) hing joint c) pivotal joint d) fixed joint

dksguh eas laf/k ikbZ tkrh gSA

a) danqd&[kfYydk laf/k     b) fgat laf/k c) vpy laf/k d) /k qjkxz laf/k

138. Human skelton system contains

a) 206 bones b) 306 bones c) 400 bones d) 106 bones

ekuo eas dqy vfLFk;ksa dh la[;k gSA

a) 206 b) 306 c) 400 d) 106

139. Example of cartilage is

a) Upper jaw b) Lower jaw c) Upper part of ear d) All of these

mikfLFk dk mnkgj.k gS

a) Åijh tcM+k b) fupyk tcM+k c) dku dk Åijh Hkkx d) ;s lHkh

140. Which one is biotic factor

a) Soil b) Temperature c) Water d) Green Plants

dkSu lk tSo dkjd gS

a) e`nk b) rkieku c) ty d) gjs ikS/ks
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141. Which one is hydrophyte

a) Cactus b) Lotus c) Babool d) Zizyphus

fuEu eas dkSu lk tyh; gS

a) dSDVl b) dey c) ccwy d) csj

142. Cactus belongs to

a) Terrestrial b) Hdrophytes c) Xerophyte d) Polar regioh

dSDVl fuEu eas ls fdl ls lEcfU/kr gSA

a) LFkyh; ikS/ks b) tyh; ikS/kk c) e:LFkyh; ikS/ks d) /k qzoh;

143. Which one is prey ...............

a) Lizard b) Insects c) Frog d) None

fuEu eas dkSu lk f'kdkj gS

a) fNidyh b) dhV c) esa<d d) dksbZ ugha

144. The distance between Radha's house and her school is 3450 m. Express this distance into

km.

a) 3450 km b) 3.450 km c) 34.50 km d) 0.3450 km

jk/kk ds ?kj ls fo|ky; dh nwjh 3450 eh gSA bls fdeh eas O;Dr dhft, A

a) 3450 km b) 3.450 km c) 34.50 km d) 0.3450 km

145. The motion of the drawer is

a) Rotatory b) Oscillatory c) Translatory d) None

est eas njkt (Drawer) dh xfr gksrh gS

a) ?kw.kZu b) nksyu c) ljy js[kh; d) dksbZ ugha

146. One metre has

a) 100 cm. b) 100 mm. c) 100 cm. d) None of these

,d ehVj eas gksrs gSa

a) 100 cm. b) 100 mm. c) 100 cm. d) bues ls dksbZ ugha

147. Light is a form of .................

a) Heat b) Energy c) Current d) Conductor

izdk'k ------------------- dk ,d :i gSA

a) Å"kek b) ÅtkZ c) fo?k qr /kkjk d) lqpkyd
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148. An object that allow lights to pass through is partially

a) Opaque b) Transparent c) Translucent d) None of these

inkFkZ tks vius eas ls izdk'k ds vkaf'kd :i ls tkus nsrk gS

a) vikjn'khZ b) ikjn'khZ c) ikjHkklh d) dksbZ ugha

149. Which is luminious

a) Moon b) fire fly c) A piece of rock d) card board

nhIr fi.M dkSu lk gS

a) pUnzek b) tqxuq c) pêku d) dkMZ cksMZ

150. The fine wire inside the bulb is made up of

a) tungsten b) iron c) Copper d) Gold

fo|qr cYc ds vanj dh ckjhd rkj fdl inkFkZ dh cuh gksrh gSA

a) VaXLVu b) yksgk c) rkack d) lksuk

151. A electric cell is filled with

a) Water b) Electricity c) Chemicals d) None of these

fo|qr lsy eas gksrk gS

a) ty b) fo|qr /kkjk c) jlk;u d) buesa ls dksbZ ugha

152. Which is a good conductor of electricity

a) Thermocol b) Aluminium c) Rubber d) None of these

fuEu eas dkSu lk vPNk pkyd gS

a) FkeksZdksy b) ,yqehfu;e c) jcM+ d) buesa ls dksbZ ugha

153. A freely suspended magnet always aligns in ................ direction

a) E-W b) N-S c) N-E d) S-E

LorU=rk iwoZ yVdk gqvk paaqcd lnk fdl fn'kk eas :drk gS

a) E-W b) N-S c) N-E d) S-E

154. Does a plastic rod get magnetised

a) Yes b) Never c) Some times d) None of above

D;k IyklfVd dh NM+ dks pqEcdh; cuk;k tk ldrk gS

a) gk¡ b) dHkh ugha c) dHkh dHkh d) dksbZ ugha
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155. Water vapours is present in air only in

a) Monsoon b) Summer c) Winter d) In all season

ty ok"i ok;q eas mifLFkr gksrs gSa dsoy

a) ekulwu eas b) xjeh c) lnhZZ d) lHkh ekSle eas

156. Water becomes solid at

a) 00C b) 1000C c) 400C d) None of these

ty fdl rkieku ij Bksl eas ifjofrZr gksrk gSA

a) 00C b) 1000C c) 400C d) dksbZ ugha

157. Living organism need oxygen for

a) Respiration b) Digestion c) Reprdouction d) Excretion

thoksa dks vkDlhtu dh vko';drk gksrh gS

a) 'olu b) ikpu c) iztuu d) mRltZu

158. The component of air used by green plants to make their food is

a) Oxygen b) Nitrogen c) Carbon dioxide d) Argon

ok;q dk dkSu lk vo;o Hkkstu cukus ds fy, iz;ksx gksrk gS

a) vkDlhtu b) ukbZVªkstu c) dkcZu MkbvkDLkkbM d) vkjxu

159. A gas produced by cow and buffalo dung is

a) biogas b) CNG c) LPG d) CO
2

xk; rFkk HkSal ds xkscj ls mRiUu xSl gS

a) tSo xSl b) lh ,u th c) ,y ih th d) CO
2

160. Which is non biodegradable

a) Vegetable peels b) Sugar cane c) Paper d) Glass bottle

fuEu eas tSo vfuEth dj.kh; dkSu lk gS

a) lCth ds fNYds b) xUuk c) dkxt d) dkap dh cksry
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ENGLISH

Read the passage given below and answer the questions that follow :

It was in the fifth century. When Prince Gautam was born in Kapil Vastu, the

Capital of sakya. The Raya at this time was suddho dana, and he was married to

the two daughters of the Raja of the neighbouring tribe the koiyans.

Now the young prince was born into great luxury, and he was cosseted and

adored by the house hold on all sides. When he learned to walk there were arms

outstretched in every direction,  but the young prince shunned them all and took

seven steps to all the four directions which signalled to all his spiritual conquest

of the earth.

The Prince was trained in every sport, becoming an expert in all kinds of

martial skills. He was well versed in the arts, and he married at a very early age,

Yashodhara, who he won in a contest at the age of only sixteen.

Gautam lived the life of a normal Indian ruler, eating and drinking plenty,

although he was a wise man, he thought little about the world around him, for it

had been his oyster for a long as he could remember and he polished his own

little pearl daily, enjoying what he saw in his reflection.

From the given alternatives, choose the best choice as your answer.

161.Kapila vastu was ruled by

a) Prince Gautama b) Suddhodhana

c) Subodhana d) Prince Kapil

162.The Prince was expert at

a) shooting b) sports activities c) singing d) martial arts

163.Choose the word nearest in meaning to the given word : `shunned'

a) Accepted b) Rejected c) Missed d) Occused

164.Choose the word nearest in meaning to the given word : 'Normal'

a) formal b) simple c) sophisticate d) Abnormal
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165.What did the Prince, Gautam win at the age of only sixteen ?

a) Gold medal b) His wife, Yashodhara

c) Silver medal d) Bronze medal

166.Choose the correct option to fill in the gap.

The news .................... shocking.

a) has b) have c) are d) is

167.Fill in the blank with suitable article.

Prefer coffee ____________ tea.

a) or b) to c) over d) with

168.Fill in the blank with suitable preposition.

The ball rolled _________ the table.

a) off b) from c) by d) of

169.Select the most appropriate choice to fill in the blank

__________ is a great virtue

a) Obey b) Obeying c) Obedience d) Obedient

170.Fill in the blank with the correct degree of comparison of the adjective.

I am feeling much ___________ today.

a) best b) better c) fine d) good

171.Out of the four given alternatives, choose the one where the word is correctly

spelt

a) Favurtive b) Favourite c) Faverite d) Favorite

172.Out of the four given alternatives choose the one which best expresses the

changed voice.

The boy was plucking a flower.

a) A flower was plucking a flower.

b) A flower is plucked by the boy.

c) A flower is being plucked by the boy.

d) A flower was being plucked by the boy.
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173.Choose the correct form of indirect narration from the four alternatives.

The teacher said, "Honesty is the best policy"

a) The teacher said that honesty was the best policy.

b) The teacher said that honesty were the best policy.

c) The teacher said that honesty is the best policy.

d) None of these.

174.Fill in the blanks with suitable form of verb

Shilpa usually ___________ the house on Saturdays.

a) will clean b) cleans c) clean d) cleaned

175.Choose the most appropriate question word to fill in the blank

_____________ do you want from me ?

a) What b) Which c) When d) How
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fgUnh

fuEufyf[kr x|ka'k ds vk/kkj ij iwNs x, iz'uksa ds lgh fodYi pqudj mÙkj nsa %

lH;rk ds vkfndky esa euq"; us isM+&ikS/kksa ds egÙo dks tku fy;k Fkk] muds

vfLrRo dh vko';drk dks igpku fy;k Fkk vkSj ;g Hkh tku fy;k Fkk fd
isM+&ikS/ks dsoy us=ksa dks lq[k iznku djus ds fy, ugha vfirq izkf.k&txr ds

fy, Hkh vko';d gSaA blfy, _f"k&eqfu;ksa us o`{kksikluk ds fy, ea= ,o iwtk

vkfn dk fo/kku cuk;kA vkt Hkh Hkkjr ds izkarksa esa fo'ks"k R;ksgkjksa ij o`{kksa dk
vR;kf/kd egÙo gSA R;ksgkjksa ij o`{kksa dh iwtk gksrh gSA iznw"k.k dks de djus

ds fy, ;g ,d vPNk mik; gSA vf/kd ls vf/kd o`{k yxk, tk,¡ vkSj ok;qeaMy

dks 'kqn~/k cuk;k tk,A cPpksa dks pkfg, fd os o`{kksa ds egÙko dks tkudj
vf/kd ls vf/kd o`{k yxk,¡ vkSj iznw"k.k de djus esa gekjs lgk;d cusaA

176 vkfndky esa euq"; us fdlds egÙo dks tku fy;k Fkk \

d½  f'k{kk [k½ laLd`fr x½ isM+&ikS/ks ?k½  lH;rk

177 _f"k&eqfu;ksa us o`{kksikluk ds fy, D;k fo/kku cuk;k \

d½ ea= ,oa iwtk [k½ izse

x½ ns[kHkky ?k½ o"kkZ

178 o`{k D;k djus esa lgk;d gksrs gSa \

d½ ePNj [k½ iznw"k.k x½ xanxh ?k½ o"kkZ

179 Hkkjr esa o`{kksa dh iwtk dc dh tkrh gS \

d½ 15 vxLr [k½ 26 tuojh

x½ R;ksgkjksa ij ?k½ vodk'k fnol ij

180 isM+&ikS/ks fdls lq[k iznku djrs gSa \

d½ ds'k [k½ efLr"d x½ us= ?k½ eu

181 Þo`{k + vkjksi.kÞ 'kCn dh laf/k gS &

d½ o`{kjksi.k [k½ o`{kksjkso.k x½ o`{kkjksi.k ?k½ o`{kvkjksi.k
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182 ÞQwyÞ 'kCn dk i;kZ;okph 'kCn dkSu&lk gS \

d½ iadt [k½ ljkst x½ lqeu ?k½ vacqt

183 Þd`rKÞ 'kCn dk foykse 'kCn gS &

d½  voKk [k½ vxzkg; x½ vkKk ?k½ d`r/u

184 Þxk;dÞ 'kCn dk L=hfyax 'kCn gS &

d½ xkf;dk [k½ xkbdk x½ xfo=h ?k½ xk;hdk

185 ÞoLrqÞ 'kCn dk cgqopu gS &

d½ oLrqvksa [k½ oLrq;sa x½ oLrq,¡ ?k½ oLrq,sa

186 ÞoSokfgdÞ 'kCn esa izR;; gS &

d½ bd [k½ fgd x½ bZd ?k½ okfgd

187 ÞnqHkkZX;Þ 'kCn esa milxZ gS &

d½ nwj [k½ nqj x½ nqj~ ?k½  nqHkZ

188 ftldh rqyuk uk gks lds &

d½ Hkkjh [k½ fo"ke x½ vrqyrk ?k½ vrqyuh;

189 Þva/ks dks nhid fn[kkukÞ eqgkojs dk vFkZ gS &

d½ jkLrk fn[kkuk [k½ jkLrs ij jks'kuh djuk

x½ ijksidkj djuk ?k½ ew[kZ dks mins'k nsuk

190 vkt rqe fo|ky; ugha x, FksA js[kkafdr 'kCn gS

d½ vU; iq#"kokpd loZuke [k½ e/;e iq#"kokpd loZuke

x½ mÙke iq#"kokpd loZuke ?k½  fuEu iq#"kokpd loZuke
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laLd`r

191 ikn;% 'kCn dk mfpr vFkZ gS %

d½  iSj [k½ o`{k x½ igkM+ ?k½  i{kh

192 laLd`r esa fyax gksrs gSa %

d½  4 [k½  3 x½ 2 ?k½ 5

193 izkr% Hkze.ka ---------- HkofrA mfpr 'kCn ls okD; iwjk djsa %

d½ lq[kk; [k½ nq%[kk; x½ ijfgrk; ?k½ Hkzeuk;

194 Nk=k % ------------A mfpr fØ;k 'kCn pqudj okD; iwjk djsaA

d½ [kknfUr [k½ xPNfUr x½ [ksyfUr ?k½ iBfUr

195 fuEu esa ls dkSu lk vdkjkUr 'kCn gS %

d½ jek [k½ ckfydk x½ d`".kk ?k½ nso

196 okuj 'kCn dk r`rh;k foHkfDr dk ÞcgqopuÞ #i gSA

d½ okujS% [k½ okujsH;% x½ okujk.kke~ ?k½ okujk%

197 fy[k~ /kkrq dk yV~ ydkj e/;e iq#i f}opu esa #i gSA

d½ fy[kko% [k½ fy[kFk x½ fy[kFk% ?k½ fyf[kr%

198 Þfo|ky;Þ dk lfU/k foPNsn gS %

d½ fon~ +vky; [k½ fo|k +vky; x½ fo|k +y; ?k½ fo|ky+;

199 Þizkr%Þ dk foykse 'kCn gS %

d½ lqcg [k½ jkf=

x½ lka; ?k½ vU/ksjk

200 Þges'kk rqe nks galrs gksÞ dh laLd`r gS %

d½ lnk ;qoka glFk [k½ ;qoka lnk mifo'k;%

x½ ;qoka glFk ?k½ lnk ;qoka onFk%


